o/ dmd [y [pb/iGeV]

Ratio to ATLAS

13000 GeV pp tt
O

— N Y N N N BN BN i

- N

0]

| M(ttbar) (ATLAS semileptonic ttbar) 413

=

~ m  ATLAS mks

—-¢-- Pythia 6.428 345 N

1073 = & Pythia 6.428 346 —=

— —A— Pythia 6.428 370 15

- Pythia 6.428 ambtl o

| < Pythia 6.428 z1 — .02:

| —— Pthia 6.428 z2 _

o

@

1074 — — ™

- _{©

- 1O

™

— — <

B .=

— %

S,

N N

(@]

- <

(0]

Q

[0

10 — —°

— — O

_, | | | | | L 1 | | | | | L -

: T T | T T T T | T T T T |:

2 = —2

1 1
0.5 — —0.5

1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " |
1000 2000 3000

mP2 Y [Gev], [y in [1.3,2.0] [GeV]



	Contents
	Page 1


